2023/7/1
F O 20RHFEPIRAERESREHXTER
R REMXPEREEARSHRREGRAS

TFEARS RZEFH MU LEIAEEE
IEfz K & FRE 2HE -7 & R [} MEER

1 BREF IS AR 3 15.300 3 14.850 7 30.150

2 BR xE=Z XE 3 15.750 7 13.400 2 29150

3 8F Lo iilipd=s 3 15.750 7 12.150 4 27900

4 B TENx AR 2 14.800 4 12.150 4 26.950

5 i IME EAR 3 14650 5 11.600 7 26.250

6 Bl IME INGEER 1 11.600 9 12.650 3 24.250

7 KIR Bm AR 2 13.900 6 10.150 9 24.050

8 MHB = XE 1 11300 77 12.000 6 23.300

9 Bl =DBE X 1 11300 77 10.500 8 21.800

10 g 2 INGER 1 12850 7 8900 1713 21.750

10 & HAT ER 1 12250 8 9500 1712 21.750

12 g EMB SPUN 1 11860 170 10000 70 21.550

13 gl E7F XE 2 10060 74 10000 70 20.050

14 ki 103 XE 3 11200 1713 7100 74 18.300



2023/7/1
F 0 20RFEPIRAERERBEMXTFTES
R REMBXPEREBASHRERRAS

EIS) A ZEFH MU RIATEE
gz K & FRE Z2H DB DA DR ABR EBR BR B=

1 8% 00 iilipd=s 3 35 18 5630 535 5610 15.750

1 R =EZ XE 3 45 20 650 530 455 060 15750

3 BREF 1B EAR 3 28 21 490 580 460 15.300

4 B = AR 2 30 17 470 555 455 14.800

5 PR IME EAR 3 16 19 3560 540 575 14.650

6 KIR Bm AR 2 25 21 460 510 420 13.900

7T P& 2 INGER 1 23 07 300 465 520 12.850

8 EE bHAT ER 1 28 05 330 430 465 12250

o Bl hE INGER 1 12 10 220 485 455 11.600
10 hE EB SPUN 1 12 12 240 455 460 11.550
11 Bl =8 XE 1 13 1.1 240 455 435 11.300
11 B = XE 1 27 10 370 465 325 030 11300
13 & 1N XE 3 16 14 300 480 340 11.200
14 #H ZF XE 2 13 06 190 435 410 030 10050



2023/7/1
F O 20RHFEPIRAERESRBEHXTER
R REMXPEREBARSHREGRAS

EERIUMY ZEHFH =Mt NBEREEE
lBfz K & FRE FHF DB DA DER AR ESR #Bx ==
1 BRY 1B e 3 28 22 500 540 4450 14.850
2 PR ZEze =R 3 39 18 570 430 3700 030 13400
3 Bl LhE INGEE 1 18 13 310 505 4500 12,650
4 g% Do Az 3 17 11 280 495 4400 12150
4 BB EME  ERE 2 28 08 360 485 3700 12150
6 M E& =R 1 25 05 300 520 3800 12.000
7 PN NE e 3 13 12 250 460 4500 11.600
8 Pl E=PE =W 1 13 10 230 425 3950 10.500
9O KIE BN  £R= 2 20 07 270 405 3400 10.150
10 BB BF =R 2 08 07 150 420 4300 10.000
10 thE =3P E2hN 1 12 03 150 435 4150 10.000
12 B HAT  EW 1 12 06 180 415 3550 9500
13 g B INGESE 1 13 03 160 390 3400 8.900
14 & 1D =R 3 06 00 060 395 2550 7100



